Path Satisfaction: Logical Operations slide 33

A path satisfies a proposition
if its initial state (“current state”) satisfies it.
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Path Satisfaction: Temporal Operations (1) slige 34

A path satisfies X¢
if the next state (of the “current state”) satisfies it.

Formulation_(over a path)

Q. What is 3 = X p checking?



Path Satisfaction: Temporal Operations (2) Slice 34

A path satisfies G¢
if the every state satisfies it.

Formulation_(over a path)




Path Satisfaction: Temporal Operations (3) slide 34

A path satisfies F¢
if some future state satisfies it.

Formulation_(over a path)




Model vs. Path Satisfaction: Exercises (1.1) slice 36
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Exercise: What if we change the LHS to m2?




